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(IMT123 15) 1 TP DO

open( F1,">F1");
print F1 "yellow 1\ nbrown 22\ nred 10\ n";
cl ose(F1);
open( F2, ">F2");
print F2 "green 13\nblue 20\ nred 18\n";
cl ose(F2);
@\RGV=(F1, F2);
@=();
@=();
while (<>) {
s/\n//; # here no space between the two //
push(@, $_);
push(@, split(/ /,$_)); # here one space between the two //

print "@\n";

print "@\n";

=@,

%9=@;

print(values %, "\n");
print(values %, "\n");



(IMT123 15) 2 TP DU}

$ ="12a\nwA n" x 2;
@-=m (\ d\ D$)/ ny;

print "@\n";

$ ="abc8abcde8ab8\ n";

s/ (\D)(\D*)(\D)/ <$1, $3>/g;
print;

$ ="(ab (cd (ef) w) zz)\n";
sIN([*O)I*\) /1 g;

print;

(IMT1P1 15) 3 T2 DU

@=([12,4,17],[1,2,8],[6,9,3]);
$refc=\ @;
@=ordl($refc);
for (@) {
progl($_)

sub ordl {
($refx)=(@);
@ =@br ef x
print "yl1=$y[1]->[1]\n";
@=sort {$$a[1] <=> $$b[1]} @;
print "z11=$z[ 1]->[ 1]\ n";
return @;

}

sub progl {
($refl)=(@);
print "@refl\n";

}



(MT123 10) 4 TP DU}

RAN TP IR 2200 Per son. pmoOwl P19 0pW NI

package Person

sub new {
ny $inv = shift;
ny $cls = ref($inv) || $inv;
ny $pers = {
name => Yaron
age => 20,
Q,
1

bl ess($pers, $cl s);
return $pers;

sub nam {
ny $inv = shift;
if (@) { $inv -> {nane} = shift}
return $inv -> {nane};

}

sub ag {
ny $inv = shift;
if (@) { $inv -> {age} = shift}
return $inv -> {age};

}
1
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use Person;

$per 1=Per son- >new( ) ;

$per 2=%$per 1- >new) ;

$per 1->ag(18);
$na=$per 1- >nan() ;
$ag=$per 1- >ag();

print "perl name: $na, perl age: $ag", "\n";
$na=$per 2- >nan(uri);

print "per2 nane: $na","\n";
bl ess( $per 2, Pers);

$per 3=%per 2->new ) ;
$na=$per 3- >nan() ;

print "per3 nane: $na", "\n";
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."There are no directed cyclesin the graph”
DTN V297 109N N3N0 (M7 1R TNKR) 9742 17120 2100 07 ORX .

"Thereisat least one directed cycle in the graph”
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1 0naT

:R11 F1L p2ipin 1010 OR

10>13,2,8
8>6,2
2>13
4>8
6>13,4
13>4
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0791 22pn"
There is at |l east one directed cycle in the graph
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There are no directed cycles in the graph
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